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2019 (S) A
SSC PART-l (9th CLASS)

BIOLOGY (NEW SCHEME) (£ 2) G
TIME ALLOWED: 1.45 Hours SUBJECTIVE J¥lL» F a5 =
MAXIMUM MARKS: 48 | 48 = AF

NOTE: Write same question number ..c‘:.éuufq_{.‘”f,ﬁ?ég bJJ/ﬁZJJU:’UV&:{QKQB s

and its part number on answer book, as given in the question paper.

SECTION-I s

2. Attempt any five parts. 10=2x5 ,gégfavzzﬁztégadi’ 24
(i) What is the difference between Zoology and Botany? ‘-’{—Jfgﬁ Gy sl G (i)
(i) What is Horticulture? Describe its importance. ‘-uf/'/ul_r-c‘:’-"u(u" ?c‘_,y/ 3 "jﬂ (i)
(i)  Differentiate between Theory and Law. _éx;j"ﬁu:pu,u'dﬁ; (iii)
(iv) Write two characteristics of Hypothesis. ﬂgfgpyr“"u&f‘ﬁf; (iv)
(v) What is meant by two Kingdom Classification System? ‘.‘;‘._:I/i;".»_—_ ('/ ﬁ&‘ Lb?ﬁfl- (v)
(vi) What is the status of Viruses? "* (LZ»L-(E’/-JI: {vi)
(vil)  What are Chromoplasts? Write its two functions. -a_/jdw »@Jl i Wu’ s ~/ (vii)
(viiiy  Differentiate between Skeletal and Smooth Muscles. éu/ oA J‘*L"'k (viii)
3. Attempt any five parts. 10=2x5 -é/fuyiif_l?léba.éf Y
(i) Differentiate between Interphase and Mitotic Phase. L COSSREIS B (M
(if) When and who discovered Meiosis? ?gupm.ugﬂ_‘zgu £ (i)
(i)  Define Regeneration. Give an example. e ‘.'cg._;i/t_,_—‘/c.w?-)—“{d) (iiiy
(ivy  What is the use of Enzymes in paper industry? ?‘;JW!U/{};!;?:UIMJJ% {iv)
(v)  Define Co-Enzymes. Givée two examples. ¥ :ulJL»;mu SEFA R W)
(viy  What is meant by Redox Reaction? .g.)l/lifc,uigl;j;u’g,éj (i)
(vii)  Write the'structure of ATP. wu:”".;}vJ ATP (vii)
{viii) What is the difference between Photosynthesis and Respiration? ‘.";_ J}g/ut'.'wff,’ L /';u‘”u:j} (viii)
4. Attempt any five parts. 10=2x5 _égfw&lﬁélziéga.&/ -4 /'.‘Ufr'
(i) Why Sphincter play role in the movement of food in = b s S e T slib v s S S uF sl (i)

and out of stomach?

(i) Describe the role of Vitamin A in body. _E I A L)
(i)  What are Dietary Fibres? ?ugg()ﬁlsdﬁb‘ {iii)
(iv)  Differentiate between Major minerals and Trace minerals. -&J OpSIArE ol 222 (i)
(v)  Define the Cohesion-tension theory. «éﬁg PSS sl (v)
(vi)  Why human heart is called the Double Pump? ?:ﬁ-t‘lgL;/Ux.ﬂs.?-{JifJ:JLJl (vi)
(vil)  Write the functions of Neutrophils and Basophils. - ﬁgdutf. Pk foe (i)
(viiiy  Write two symptoms of Dengue Fever. ,u:,':/ f:.:/i.ﬂ&::d//“ﬁ ;565’ {viii)

SECTION-II (234

NOTE: Attempt any two questions. 18=9x2 -gf;fayfﬁé:amm:a.éf -
5.(A) Explain Biophysics, Biochemistry, 4 ,.;...ffr:.wusgzﬁﬁyjb::}fuﬁgfu”/ﬁﬂfpﬂéui_?)f'g rd/?{fk WJHL (LIN.5
Biogeography and Bioeconomics as interdisciplinary Sciences.

(B} Write a detailed note on Cell Membrane. 5 W19 - I/J/‘U' Cas)
6.(A) Describe the mechanism of Enzyme action. 4 Sl Ky AL :_/rb’iﬂ/:f (_#)_6
(B) Describe the process of Aerobic and Anaerobic Respiration. 5 ﬂbj)}.as‘..'nbfgf“ Lo otk lad ()
7.(A) Write a note on the roles of Calcium and lron. 4 c.')f;i'/ﬂ;ff u/’l'/ﬂ(’w (N7
(B) Write down detail of Leukaemia and Thalassaemia. 5 &JMJM@J Sl (L)
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PAPER CODE 2019 (S) s
SSC PART-l (9th CLASS)

NUMBER: 1461

BIOLOGY (NEW SCHEME) (%) G
TIME ALLOWED: 15 Minutes OBJECTIVE u":ff.ﬁ o156 = =
MAXIMUM MARKS: 12 12= A

A B & SR 3 Jr Ll e Jo s sl Dy Q017 <t 240 D sl C B A ezl Ly L
{.;;;._,jir‘u'! J’L%de/tﬁj:{)f&zr‘uﬁi.,&.é j{,'u':b -{ﬂn‘-jﬁ?(ﬁuﬂuﬂ;ﬂ‘JL/& AT g 4 d'_./qj/usfbu}_k;._g -ﬁ';
Note: you have four choices for each objective type guestion as A, B, C and D. The choice - jﬁd’?j"oulr
which you think is correct, fill that bubble in front of that question number, on bubbie sheet. Use marker or pen
to fil! the bubbies. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filied. Do not solve rquestions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) A group of cells performing simitar functions is called: et S e e s (1)
(A) Tissue & (B) Organ /o7 (C) Organ system (/27 (D) Organism 77

(2) The bark of which tree was very suitable for curing malaria? TQ}Y‘MLJJL{{:;‘HL/:;.L@H&; L ()
(A) Pinus Lf’g (B) Keckar /Ef (C) Cactus ;f'g/ {D) Cinchona t;ﬁ

(3) Prokaryotes belongs to which kingdom? et BN AS 3
(A) Monera 12 (B) Fungi J# (C) Plantae (U (D) Animalia &~

(4} Number of Indus dolphinin Indus river of Pakistan is: et e sl e, (4)
(A) 800 @ 700\ (€) 500 (D) 600

(5) The organism which has:no celh wall? el e R (5)
(A) Animals .Jb (B) Fungi ¢ (C) Bacteria | <& (D) Plants <

(6) Companion cells are present in which tissue of the plant? frdbioy Hhwaiasas u’fﬁju"Za_J.:j (€)
(A) Xyllem 1 (B) Cork 0¥ (C) Phicem (4 (D) Epidermis 73!

(7) Reduction in chromosome number is called: -Q—Jlk’/d/uf)'ﬁd}fr’u‘/ (7

15"

" . o
(A) Regeneration /= 2§, (B) Vegetative propagation u"‘-“""ﬁp%. y  (C) Mitosis U730 (D) Meiosis U1

(8) Lock and key model was gproposed by a German Chemist: -Qrtb’m@“‘ﬁLhL/ﬁJ?LJiglﬂ (8)
(A) Ketvin ¢/ (B) Bu-Ali-Sina txy  (C) Emil Fischer # (D) Koshland 4 ¥
(9) Main phetosynthetic pigment in plant is- ..;L\éfgﬁ;}ﬂfc. AUy (9)

{A) Chlorophyll-b b (B) Chlorophyll-a a- ¥ (C) Chiorophyll-c  ¢-J¥ (D) Carotenoid %15

(10} Deficiency of Protein causes a disease: w-g-c}/ﬂfzg.dxbuﬁu{}/c/frg (10)
(A) Malaria (& (B) Anaemia < (C) Goiter ( ¥ ) &/ (D) Marasmus ¢
(11)  Which type of blood cells have body's defence system? ‘-‘5;.Jug'wJU:KfrDu‘wfnﬁfiuf (11)

(A) Red blood cells #Z4., (B) White blood cells *itess  (C) Platelets wLJ (D) PUS

(12) One cubic millimeter of blood contains platelets. calnged b md A0l gs (12)

(A) 250,000 (B) 1500 (C) 15000 (D) 250

25(0bj) i%)-2019{8)-@(570 (MULTAN)
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PAPER CODE 2019 (S) s

NUMBER: 1463 SSC PART-l (9th CLASS)

BIOLOGY (NEW SCHEME) ((-‘ £) G
TIME ALLOWED: 15 Minutes OBJECTIVE u‘i/’y e 15 = =
MAXIMUM MARKS: 12 12= AF

S ich b\ SAD 3L R s S U s g §601% -t L0 D i C B A AWl S
VEIR 2V ..b'ngLuﬂ’/:"'zj:(gﬂ:.afJi_/C:.i J(JJJ"’J _ﬁur"'}w..,«lﬁuﬁgﬁw;ﬂfi.)z Joy L d’..f.ifu:/'bu&)a.ug il
Note: you have four choices for each objective type question as A, B, C and D. The choice _.g_[)::d’?}i:,!}lr
which you think is correct, fili that bubble in front of that question number, on bubble sheet, Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Deficiency of Protein causes a disease: < dﬁ-ﬁdev.gd/ de,{ (1)
(A) Malaria | (B) Anaemia L<! (C) Goiter (‘/ff ) /"’lf (D) Marasmus 31«

(2)  Which type of blood cells have body's defence system? i'f,thLbﬁJ G;b?)-(:’ u’u;fﬁ-’&uﬁ (2)

(A) Red blood cells )l-'-'ﬂ:,_i,/ (B) White blood cells ?‘f,té:fl: (C) Platelets J’f“).i_-_-& (D) PUS e

(3) One cubic millimeter of blood contains _______ platelets. ~Lff UAJ.*.«“J.-,J}:‘J,,J._{?‘Z e (3)
(A) 250,000 (B) 1500 (C) 15000 (D) 250

(4) A group of cells performing similar functions is called: _{_':Jk*f.;;f b’ffé_bzu.-:ri;"'/db"'&,‘-"bg (4)
(A) Tissuenis (B) Organ /si (C) Organ system | /07 (D) Organist 7

(5) The bark of which tree was very suitable for.cufing malaria? 8 vl el E’.:.i-,uu/é_ﬁ&,wig Sk (5)
(A) Pinus J"'J_g (B) Keckar /_C( (C) Cactus u"""g/ (D) Cinchona ';:f'

(6) Prokaryotes belongs to which kingdom? ?{-arﬁf L}L; E’U:JJ/:’:{ (6)
(A) Monera Iz (B) Fungi (¢ (C) Plantae (5 (D) Animalia (k<!

(7)  Number of Indus dolphin in Indus river of Pakistan is: PSSO SN T Y A (N )
(A) 800 (B) 700 (C) 500 (D) 800

(8) The organism which has no cell wall? ‘-’Jﬁuﬁ‘@f:ukufzfﬁ‘f'u)/ (8)
(A) Animals .7l (B) Fungi (¢ (C) Bacteria | & (D) Plants <y

(9) Companion cells are present in which tissue of the plant? bl hpinS ui'fjfié_sg (9)
(A) Xyllem i (B) Cork /¥ (C) Phloem (4 (D) Epidermis 23l

(10) Reduction in chromosome number is called: -c‘—J%‘TJfJ’A’jJ/'W»‘/ (10)

(A) Regeneration //* 2§, (B) Vegetative propagation uﬁ-‘—c':.;rt*‘i-f; (C) Mitosis 73t (D) Meiosis U3¢

(11) Lock and key model was proposed by a German Chemist: SGetked gzl i Jadndelt (1)
(A) Kelvin ¢/ (B) Bu-Ali-Sina tx(%  (C) Emil Fischer #_4 (D) Koshland ¥
(12) Main photosynthetic pigment in plant is: ~& wg_.@ﬂ?;'}}(?!.:; _'./Uf.‘u»; (12)

(A) Chiorophyll-b b< 5. (B) Chiorophyll-a a- it (C) Chlorophyll-c - i (D) Carotenoid 157

25(0bj)( 1‘«'7‘};')-2019(3)»5?(590 (MULTAN)
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PAPER CODE 2019 (S) ey

NUNBER:T46E SSC PART- (9th CLASS)
BIOLOGY (NEW SCHEME) (£ £) G\
TIME ALLOWED: 15 Minutes OBJECTIVE Lﬁ/"‘.ﬁ e 15 = =
MAXIMUM MARKS: 12 12= AF

y = ﬁkﬁ?'}ﬁw’&&féytﬁ@wa;ﬁ u;jlsiéj&bﬁ‘)lrﬁ{qmlﬁ ..L,gé:é_) D.uCBA -‘:&Lﬁ;ﬁ&&gﬁrﬂ Y

FEYR IV -‘Lb&:ﬁﬁ&jﬁﬂ@f&’-ﬂi }(Ju'b -fx;r‘jwvb?uﬁuf:ufd/i.& ps L L/Ju:?b»&):.ug e
Note: you have four choices for each objective type question as A, B, C and D. The choice -g[ﬁd'ﬂ;:a Uy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) Reduction in chromosome number is called: ' -‘Lz_-ﬂi#rf}‘i!ﬁﬂﬁ(f}'rﬁ/ (1)

& L b " " R i .
(A) Regeneration o= 2§, (B) Vegetative propagation /*®, s (C)Mitosis U 3l (D) Meiosis

(2) Lock and key model was proposed by a German Chemist: ,Lﬁrts’.;x{u”zi,l,i_/u?ditgffc;lu@ (2)
(A) Kelvin g (B) Bu-Ali-Sina b=(}¥  (C) Emil Fischer #} (D) Koshland 4 %
(3) Main photosynthetic pigment in plant is: - ..w’:‘.@l" ;'}(?lc_...,/u.’f sy (3)

(A) Chlorophyli-b b (B) Chlorophyll-a a-Jfu¥  (C) Chlorophyll-c - fisf (D) Carotenoid %15y

(4) Deficiency of Protein causes a disease: -.::.(}ﬂ&;d/k;.._gp{&-jfs{ (4)
(A) Malaria | (B)Anaemia L& (C) Goiter ( ¥ 0 A (DyMarasmus &7 <
(5) Which type of blood cells have body's defence system? ??Jurwid {i;’(()'(:' u’w@lﬁ’iuﬁ (5)

(A) Red blood cells #2£,  (B) White blood cells %2k 2%, (C) Platelets ﬁé,,g (D) PUS ¢

(6) One cubic millimeter of blood contains ______ platelets. _g,gz_w’é,gdm}gﬁg&u} (6)
(A) 250,000 (B) 1500 (C) 15000 (D) 250

(7) A group of cells performing similar functions is called: i rﬂffh;:/ K}kLlaé_:r@;ydwlcﬁug (7)
(A) Tissue & (B) Organ /7 (C) Organ system ¢~ /57 (D) Organism ¢ 57

(8) The bark of which tree was very suitable for curing malaria? ?w}yug;dgamufg.éaw[.g Y1 (8)
(A) Pinus U (B) Keckar &~ ©) Cactus ¥ (D) Cinchona &

(9) Prokaryotes belongs to which kingdom? ?ﬁ:-c-(}ﬁ/u/ ._}L’j Kuja;(s{ (9)
(A) Monera 12+ (B) Fungi ({¢ (C) Plantae (1t (D) Animalia L€

(10) Number of Indus dolphin in Indus river of Pakistan is: _%;rﬂJu%;w:u:bM_g»f.uw@ (10)
(A) 800 (B) 700 | (C) 500 (D) 600

(11) The organism which has no cell wall? tde st ses” (1)
{A) Animals 137": (B) Fungi du’ (C) Bacteria | ,-}_C (D) Plants <y

(12) Companion cells are present in which tissue of the plant? ULl liwguings g,tf}‘j;,f( 5:._}5 (12)
(A) Xyllem A (B) Cork ¥ (C) Phloem (4 (D) Epidermis 23/

25(0bj)( TEIHY)-2019(S)- Cﬁ,_go (MULTAN)
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PAPER CODE 2019 (S) Ay
SSC PART-l (9th CLASS)

NUMBER: 1467

BIOLOGY (NEW SCHEME) (F £) Bl
TIME ALLOWED: 15 Minutes - OBJECTIVE _uf:z:,ﬁ w15 = =
MAXIMUM MARKS: 12 12= A

Y=, L/‘:Lfa}bﬁh”alb‘ﬁ-u,alzyua.u’-‘ uﬁbéﬂé.:&bﬁdlrf.'{(éﬂtﬁ sl 254-: D . C B <A .:.«LL?.;.-@kﬁdlfﬂ s
VEYR L _beLJ(ﬁi/}é:@:aﬂ‘JL.ﬂ:i )(J:fb -‘mr‘gw\...a!ﬁuﬁgﬁ:uﬂﬂ.ﬁ o L/‘qu:fbuy.:...g it
Note: you have four choices for each objective type question as A, B, C and D. The choice -Q/QJ’)’}:«UFV
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question. No credit wili be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Number of Indus dolphin in Indus river of Pakistan is: ISPt il oy ()
(A) 800 (B) 700 (C) 500 (D) 600

(2) The organism which has no cell wall? ?Gﬁuﬁv'i“.}:ﬁﬁﬂfuf (2)
(A) Animals 2l (B) Fungi JLJ (C) Bacteria /}"5 (D) Plants <4

(3) Companion cells are present in which tissue of the plant? rlbl BUTPTERL J:‘;U‘f[.z_)g (3)
(A) Xyllem (B) Cork ¥ (C) Phioem A# (D) Epidermis 25!

(4) Reduction in'chromosome number is called: -‘ank{s&:lﬁJ 7rr,f 4)

(A) Regeneration J"—’;i:d.v (B) Vegetative propagation u’-’gﬁ{ifﬁ (C) Mitosis J ;’&L (D) Meiosis SIS

(5) Lock and key modelwas proposed by a German Chemist: -LE(*»‘K.:/.( JZ.J_DL/J}JHJ};M/U (5)
(A) Kelvin u)’:f (B) Bu-Ali-Sina l'r:'(.;‘:i (C) Emil Fischer /"’J"l (D) Koshland L.:Uf
(6) Main photosynthetic pigment in plant is: e Lok G I e iUy (6)

(A) Chlorophyll-b b-J# (B) Chiorophyli-a a-dif () Chiorophyllc o= Jisf (D) Carotenoid K5ty d

(7) Deficiency of Protein causes a disease: < Gﬂﬁd;h:._gd/&;f;{ {7)
(A) Malaria | /:1' (B) Anaemia L<! (C) Goiter ( }:{ ) f"lf (D) Marasmus e
(8) Which type of blood cells have body's defence system'? ?cc-abf(uﬁ(f GJK()TD u‘ufJJJ‘-’Lu? (8)

(A) Red blood cells )—’J‘J.)jj (B) White blood celis Koty (C) Platelets Jya._.g (D) PUS =

(9) One cubic millimeter of blood contains platelets. gl ﬂ%wﬁéﬁugﬁu} (9
(A) 250,000 (B) 1500 (C) 15000 (D) 250

(10) A group of cells performing similar functions is called: _i;_tntz(_;;fﬁfi_!;z::.}rl_;’lfdwlc?_{l (10)
(A) Tissue P (B) Organ J;T (C) Organ system f’“’ L-;CT (D) Organism (7"’3?

(11) The bark of which tree was very suitable for curing malaria? ¢ LZPAJWL{E’:,&»JQ_LE;mLL A1)
(A) Pinus ¥ B)Keckar £ (C)Cactus el (D) Cinchona &4

(12) Prokaryotes belongs to which kingdom? ' ‘-@.Lp‘ﬁ/f gjl; s’gﬂﬂ/»; (12)
(A) Monera 12+ (B) Fungi 0% (C) Plantae (1t (D) Animalia k<

25(0bij)( *ﬂr‘ﬂrﬂz)_zmg(syq(‘}?@ (MULTAN)
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